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CGL EXAM

Combined Graduate Level Examination

SSC CGL 2017 EXAM PAPER : Held on 08-AUG-2017
Shift-1

(Mathematics)

QID : 51 - How many numbers are there from 300 to 650 which are completely divisible by both 5
and 7?

Options:

18

2)9

3) 10

4) 12

Correct Answer: 10

QID : 52 - Raman can do a work in 5 days, Jatin can do the same work in 7 days and Sachin can do
the same work in 9 days. If they do the same work together and they are paid Rs 2860, then what is
the share (in Rs) of Raman?

Options:

1) 1260

2) 700

3) 900

4) 870

Correct Answer: 1260
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QID : 53 - If the diameter of a sphere is 14 cm, then what is the surface area (in cm?) of the sphere?
Options:

1) 616

2) 308

3) 462

4) 636

Correct Answer: 616

QID : 54 - After two successive discounts of 20% and 35%, an article is sold for Rs 50700. What is
the marked price (in Rs) of the article?

Options:

1) 92500

2) 98500
3) 97500

4) 94000
Correct Answer: 97500

QID : 55 - Rs 3200 is divided among A, B and C in the ratio of 3 : 5 : 8 respectively. What is the
difference (in Rs) between the share of B and C?

Options:

1) 400

2) 600

3) 800

4) 900

Correct Answer: 600

QID : 56 - The average of 5 members of a family is 24 years. If the youngest member is 8 years old,
then what was the average age (in years) of the family at the time of the birth of the youngest
member?

Options:

1) 16

2) 20

3) 24
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4) 32
Correct Answer: 20

QID : 57 - If the price of pen decreases by 20%, then a man can buy 10 more pens for Rs 100. What
is the new price (in Rs) of each pen?

Options:

1)1

2)2
3)4

45
Correct Answer: 2

QID : 58 - After deducting 60% from a certain number and then deducting 15% from the remainder,
1428 is left. What was the initial number?

Options:

1) 4200

2) 3962

3) 4150

4) 4300

Correct Answer: 4200

QID : 59 - A train travels 40% faster than a car. Both start from point A at the same time and reach
point B, 140 km away at the same time. On the way the train takes 25 minutes for stopping at the
stations. What is the speed (in km/hr) of the train?

Options:

1) 67

2) 134.4
3) 145.9

4) 160
Correct Answer: 134.4

QID : 60 - A certain sum of money triples itself in 5 years at simple interest. In how many years it will

be five times?
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Options:
1)5

2)8
3) 10

4) 15
Correct Answer: 10

QID : 61 - If x + (1/x) = 2, then what is the value of x* + x2?
Options:

10

2)1

3)2

4)-2

Correct Answer: 0

QID: 62 -

If x=6+2«fé, then what is the value of ¥x—-1+ 1 ?

=

TR x=6+26, arJx-1+

1
T AT HIT &7
Jx =1
Options:
1) 2V3
2) 312
3) 212

4) 33
Correct Answer: 23

QID:63-Ifa+b+c=27, thenwhat is the value of (a—7)*+ (b —9)* + (c — 11)*— 3(a—7)(b — 9)(c
-11)?

Options:

10
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2)9
3) 27

4) 81
Correct Answer: 0

QID : 64 -

215
N3+45'

_ZJ_ X+JgX+J_
mxs(m 5 x—3

X ++5 x+J_
x—5 J_

if x= then what is the value of

& AT FAT €2

Options:
1)~5

2)3
3)V15

4)2
Correct Answer: 2

QID : 65 - The perimeter of an isosceles triangle is 32 cm and each of the equal sides is 5/6 times of
the base. What is the area (in cm2) of the triangle ?

Options:

1) 39

2) 48

3) 57

4) 64

Correct Answer: 48

QID : 66 - If length of each side of a rhombus PQRS is 8 cm and 2PQR = 120°, then what is the
length (in cm) of QS?

Options:

1) 45

2)6

3)8
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4)12
Correct Answer: 8

QID : 67 -

In the given figure, ABC is a triangle. The bisectors
of intemal £ZB and extemal £C interest at D. If
ZBDC =48°, then what is the value (in degrees) of
ZA?

& og ampfa #, ABC e TS &1 «B o™
£C @ fearsiw g D ufa=dg aar &1 afy
/BDC =48 &, ar /A & AT (fafr &) @am &2

Options:
1) 48

2) 96
3) 100

4) 114
Correct Answer: 96

QID : 68 -
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In the given figure, O is the centre of the circle and
Z/DCE = 45°. If CD = 1042 cm, then what is the
length (incm) of AC- CB = BD

& 1 npfa #A, OqF & Fg &, AT LDCE = 45°
gl afg CD = 1042 /A & ar AC fY FFS
(@. 3. #) FaT ¥2 CB = BD

A

Options:
1) 14

2)15.5
3) 18.5

4) 20
Correct Answer: 18.5

QID : 69 -

sin2A

What is the simplified value of ——————%
atis the simplified value of -5~

sin2A
—_— hl GIHI@H HIA T &7
1+cos2A %

Options:
1) tan A
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2) cot A
3)sin A

4) cos A
Correct Answer: tan A

QID: 70 -

What is the simplified value of
cotA+tan A

2
sec A ]?

[ = szﬂuﬁwmw%?

cotA+tan A
Options:
1) 1 —cos?A
2) 2sin’A
3) sec’A
4) cosec?A
Correct Answer: 1 — cos?A

QID : 71 - What is the simplified value of 1 + tan A tan (A/2)?
Options:
1) sin A/2

2) cos A
3)sec A

4) sin A
Correct Answer: sec A

QID: 72-
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The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

= fow T g BT # v §gevs gRA W5
fafeea sost & Sar @ FEAr H AT T4 Bl
7@l F 1200 T &

Puma/

AT
21%

Nike /

SATgehT

18%

Vans/

=g
13%

didas/

ufssrd
25%

Reebok/

FICIED
23%

How many shoes are there of Reebok brand?

Options:

1) 230

2) 276

3) 286

4) 216

Correct Answer: 276

QID: 73 -
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The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.

There are total 1200 shoes.

= fow T g BT # v §gevs gRA W5
fafeea sost & Sar @ FEAr H AT T4 Bl
7@l F 1200 T &

Puma/

AT
21%

Nike /

ATShT
18%

Vans/

=g
13%

didas/

ufssrd
25%

Reebok/

FICIED
23%

What is the difference in number of shoes of Puma and Vans?

Options:

1) 96

2) 156

3) 84

4) 112

Correct Answer: 96

QID: 74 -
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The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

= fow T g BT # v §gevs gRA W5
fafeea sost & Sar @ FEAr H AT T4 Bl
7@l F 1200 T &

Puma/ Veanay
3=
S 13%
21%
didas/
Nike / 59
TS ;
18% Reebok/
FIEIED
23%

The difference between the number of shoes of Reebok and Nike is same as the difference between

which of the following two brands?
Options:

1) Puma and Adidas

2) Reebok and Adidas

3) Vans and Nike

4) Nike and Adidas

Correct Answer: Vans and Nike

QID : 75 -
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The pie chart given below shows the number of
shoes of 5 different brands in a multi brand store.
There are total 1200 shoes.

= fow T g BT # v §gevs gRA W5
fafeea sost & Sar @ FEAr H AT T4 Bl
7@l F 1200 T &

Puma/

AT
21%

Nike /

SATgehT

18%

Vans/

=g
13%

didas/

ufssrd
25%

Reebok/

FICIED
23%

Puma shoes are how much percent more than the Nike Shoes?

Options:
1) 14.28

2) 16.66
3) 25

4) 21.33
Correct Answer: 16.66
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